Malmo6 BK
Lilla serien 2014-03-03

IMP dver féltet, 16 bord, 32 par. Antal brickor: 28.

Plac Par Poadng Namn MID Klubb
1 27 65 Jan Ahlkvist - Ulla Linse 39033 27725 BK Zonen - Malmé BK
2 15 60 Berth Rasmusson - Lone Stolt 5791 82807 Malmd BK
3 30 58 Peter Moricz - H.O. Thulin 25801 79375  Pri-Bri 1936 - Skdvde BA
4 1 50 Catrin Wahlestedt - Kristina Johnson 83325 26596 IFK Karlskrona - Lunds BK
5 10 36 Bonnie Clementsson - Jan Clementsson 55628 55627 Malmd BK
5 18 36 Erik Andersson - Ricard Larsson 87985 82921 BK Zonen
7 24 33 Marten Howe - Linus Olsson 24774 30150 LUCK
8 20 29 Olle Persson - Lars Becklén 23285 80419 Malmd BK - Pri-Bri 1936
9 12 25 Lars Olsson - lldiko Lang 38856 28328 BK Zonen - Malmé BK
10 22 24 Annette Everum - Johan Andersson 37344 40197 Malmé BK
11 7 23 Magnus Wegestal - Jeanette Andersson 91149 47293 Malmd BK
11 25 23 Tomas Lindqvist - Jan Eriksson 11362 27765 Malmd BK
13 19 21 Bo Holmaqvist - Berne Thulin 1151 16078 BK Axet - Staffanstorps BK
14 32 19 George Borgstrom - Birgitta Kiotseridis 8612 22803 Malmd BK
15 5 16 Simon Granath - Sofia Olofsson 26207 29978 Malmo BK
16 13 13 Mats Andersson - Hélene Hommerberg Messing 29670 10233  Pri-Bri 1936 - SkbrV BK
17 9 4 Jorgen Cohen - Gunnar Osterberg 92047 94093 Malmd BK
18 23 -1 Bengt Nilsson - Peter Gati 5797 11054 Malmd BK
19 6 -2 Goran Gronvall - Jan Gliicksman 3066 12216 Malmé BK
20 2 -10 Anders Nilsson - Maggie Holgersson 15846 88192 Pri-Bri 1936
21 3 -16 Johnny Pettersson - Bjérn Edvardsson 11666 15757 Malmo BK - Pri-Bri 1936
22 28 -24 Johnny Nielsen - Niusia Lichtman 83584 4596 BK S:t Gertrud - SK Hakoah BS
23 14 -31 Bengt Sahlstrém - Barbara Sahlstrom 53453 53454 Malmo BK
24 16 -32 Ann Lilliengren - Monica Wester 15618 87540 Malmo BK - Pri-Bri 1936
25 4 -34 Leif Ahlberg - Ake Stein 14010 14009 Bjarreds BK
26 21 -38 Lennart Hammarholm - UIf Norman 94327 39188 Kullabygdens BK - Lunds BK
27 29 -40 Stig Unoson - Margareta Bolin 83337 13215 Malmo BK
28 31 -47 Ingemar Martensson - Lars Persson 38627 40205 Malmo BK
29 8 -55 Borje Jarlvik - Walter Hulphers 4479 4452  Malmo BK
30 26 -63 Hans-Olof Holmqvist - Bertil Hansson 15960 6750 Malmd BK
31 11 -66 Bodil Wikstrém - Lotta Lundberg 11758 43210 BK S:t Gertrud - Pri-Bri 1936
32 17 -76 Stig Nedavaska - Glenn Ljungqvist 40614 38663 Pri-Bri 1936
1 4103 Basta kontrakt 2 4 EKD109543 Basta kontrakt 3 464 Bésta kontrakt
Nord vD54 6v O =-980 Ost vD 6v O D -2 300 Syd v EKn9742 54 V =-650
Ingen + DKn10987 NS +3 ov +D7
*K4 & ¢ v & NT #K104 & ¢ v & NT #K102 & ¢ v & NT
4K964 aKn72 N26122 4 Kn72 46 N 117 3 115 4 K9752 4 EDKN10 N37826
vK9632 vEKn7 S26122 v EKn96543 v K1087 S 117 3 115 v53 v8 S27823
+E6 +K4 O 117 121011 ¢ Kn ¢E109542 O 0 6 100 O ¢ K53 41098 O 105 5 116
«D10 #EKn732 vV 117 121011 *Kn7 «D8 V 0 6 100 O #865 #EDKn97 V 105 5 116
« ED85 48 483
v 108 v2 vKD106
4532 + KD876 + EKn642
#9865 #E96532 *43
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
16 32 4v V-1 *Q 50 10.0 -10.0|10 26 2¢DV-5 4A 1100 12.0 -12.0| 2 18 4v S= a2 420 10.0 -10.0
12 28 2v V+2 ¢Q -170 50 -5.0| 521 44 N+2 8 680 6.0 -6.0|13 29 3v S+1 &8 170 5.0 -5.0
521 3y V+3 ¢Q -230 40 -40| 7 23 54 N+1 v8 680 6.0 -6.0[(16 32 3v N+1 T 170 50 -5.0
2 18 3NO= ¢5 -400 -1.0 1.0(15 31 54 N+1 ¢K 680 6.0 -6.0|{15 31 3v N= *A 140 40 -4.0
10 26 3NV = +Q -400 -1.0 1.0| 1 17 54 N= 46 650 50 -5.0| 8 24 54 V-1 vA 100 3.0 -3.0
117 4v V= +Q -420 -1.0 1.0 3 19 54 N= v8 650 50 -5.0( 1 17 4v N-1 v8 -50 -1.0 1.0
7 23 4v V= *Q -420 -1.0 10| 9 25 54 N= ¢ A 650 50 -5.0( 4 20 4v N-1 s A -50 -1.0 1.0
11 27 4v V= +Q -420 -1.0 1.0|12 28 54 N= vK 650 50 -5.0[ 521 3v N-1 s A -50 -1.0 1.0
6 22 3NO+1 T -430 20 20|14 30 54 N= vK 650 50 -5.0|{11 27 3vS-1 a7 -50 -1.0 1.0
4 20 4vV+1  +Q -450 20 20|16 32 44 N+1 7 650 50 -5.0(12 28 3v N-1 *T -50 -1.0 1.0
8 24 4v V+1 ¢Q -450 20 20| 6 22 7vyDV-3 4A 500 20 -2.0(14 30 4v N-1 *T -50 -1.0 1.0
13 29 4v V+1 +Q -450 20 20| 4 20 6vyDV-2 «K 300 -40 40| 3 19 5vS-2 a2 -100 20 20
14 30 4v O+1 +¢5 -450 -20 20| 2 18 64 N-1 ¢ A -100 -11.0 11.0|10 26 4v S-2 *5 -100 -20 20
15 31 4v V+1 +Q -450 20 20| 8 24 64 N-1 ¢ A -100 -11.0 11.0| 6 22 5v N-3 s A -150 -40 4.0
3 19 3NO+2 48 -460 20 20|11 27 64 N-1 ¢ A -100 -11.0 11.0| 7 23 34 V+1 YA -170 -40 4.0
9 25 3INO+2 &5 -460 -20 20|13 29 4v V= s A -420 -13.0 13.0| 9 25 5vDN-3 4A -500 -10.0 10.0
4 # EKn103 Bésta kontrakt 5 # EKn109643 Bésta kontrakt 6 4 D75 Bésta kontrakt
Vast vD 2NTV =-120 Nord v10 ANT O =-430 Ost vK ANT S =430
Alla + ED54 NS +98 ov + E8652
#EKn98 & ¢ v & NT #Kn98 & ¢ v & NT #DKn104 & ¢ v & NT
49762 &KD85 N6 7865 4752  4K8 N6 8 383 49 4EKN8432 N 8 7 6 8 10
vEK9 vKnl0 S 67855 vEK74 wKn98532 S 6 8 3 8 3 v 86 v 109752 S 87 6 8 10
¢ 1097 ¢ K86 06 657 8 ¢732 ¢ED 06595 10 4109743 +D O4 4 453
#432 #KD105 V665738 #1042 #EK3 V659510 #K9872 &E V44453
a4 oD & K106
v 8765432 v D6 v EDKn43
¢ Kn32 ¢ KKn10654 ¢ KKn
*76 «D765 #653
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
9 25 34DO-2 4 500 11.0 -11.0|15 31 5v0-2 4Q 100 9.0 -9.0(10 26 3vyDO-2 43 500 9.0 -9.0
6 22 24 O-2 &7 200 6.0 -6.0| 1 17 4v V-1 +9 50 80 -80| 1 17 3NN+1 T 430 70 -7.0
521 2¢v N= &K 110 40 -40| 2 18 4v0O-1 4Q 50 80 -8.0| 4 20 ANS+1 &2 430 70 -7.0
117 14 V-1 vQ 100 40 -40|10 26 4v O-1 4Q 50 80 -80| 521 3NS= 49 400 7.0 -7.0
15 31 24 V-1 vQ 100 40 -40| 4 20 2vO+2 4Q -170 30 -3.0| 9 25 3NN= 4A 400 70 -7.0
2 18 3v S-1 46 -100 20 20| 319 4v 0= 4Q -420 -40 40|12 28 3NN= a4 400 70 -7.0
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7 23 1#N-1  vJ -100 20 20| 521 4v 0= +Q 420 -40 4.0|14 30 2NN+2 44 180 20 -2.0
10 26 4v S-1 46 -100 20 20| 6 22 4v O= +Q 420 -40 40| 2 18 2v S= 49 110 -1.0 1.0
13 29 4v S-1 a2 -100 -20 20| 7 23 4vO= 4Q -420 -40 4.0|11 27 3NN-1 &7 50 -50 50
16 32 4v S-1 *T -100 20 20| 8 24 4v O= +Q 420 -40 40|13 29 3vS-1 49 50 -50 50
4 20 INO+1 &7 120 20 20| 9 25 4v O= +Q 420 -40 4.0|15 31 3NS-1 *2 50 -5.0 50
319 4v N-2 &K 200 -40 40|11 27 4v O= 4Q -420  -40 40| 3 19 2vS-2 49 -100 -6.0 6.0
8 24 4v S-2 46 2000 -40 4.0|12 28 4v V= & A 420 -40 40| 6 22 2vS-2 49 -100 -6.0 6.0
11 27 4v S-2 49 200 -40 40|13 29 4v O= +Q 420 40 40| 8 24 2v N-2 49 -100 -6.0 6.0
12 28 14 N-2 vJ 200 -40 40|14 30 4v V= s A -420 40 40|16 32 3v S-2 49 -100 -6.0 6.0
14 30 2NN-2 #K 2000 -40 40|16 32 4v O= +Q 420 -40 40| 7 23 3vS-3 49 -150 7.0 7.0
7 & 542 Basta kontrakt 8 « EK Basta kontrakt 9 & E542 Basta kontrakt
Syd v KKn 5# S D -2-500 Vast v 108532 3¢ ND-1-100 Nord v DKn6542 5NT O =-660
Alla +Kn Ingen + Kn63 ov +9
#KD96532 & ¢ v o NT #K52 & ¢ v & NT #65 & ¢ v o NT
4 E63 & K1097 N9 4334 498 4 Kn1072 N48575 4KD10 4873 N22632
v D972 v 10543 S 94334 vEKKn9 D76 S48575 v 98 v EK S22632
¢ KD1086 ¢ E52 04 9 109 8 ¢ED98 ¢K 08 476 8 ¢ E1085 ¢ KD732 O 11117 9 11
8 #E10 V49998 »763 #DKn1084 V 8 4 7 6 8 #Kn842 #EK9 vV 11117 9 11
« DKn8 « D6543 + Kn96
v E86 v4 v 1073
¢ 9743 ¢ 107542 ¢ Kn64
*Kn74 *E9 +D1073
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 27 5¢ V-3 v5 300 11.0 -11.0| 8 24 14 S= 49 80 50 -5.0( 1 17 5¢ N= *4 400 14.0 -14.0
117 3&#N= *A 110 9.0 -9.0|12 28 14 S= 45 80 50 -5.0(15 31 4¢ O= v3 -130 9.0 -9.0
16 32 4v V-1 *K 100 9.0 -9.0| 2 18 2v N-2 ¢K -100 10 -10(12 28 3¢ O+2 vT -150 8.0 -8.0
13 29 Pass 70 -7.0( 9 25 2v V= s A -110 00 00| 218 3NO= vT -600 -3.0 3.0
7 23 3¢ V= *K -110 50 -5.0[ 521 INV+1 ¢3 -120 00 00| 7 283 3NO= v3 -600 -3.0 3.0
10 26 3v O = *4 -140 40 -4.0|11 27 INV+1l &2 -120 0.0 0.0[11 27 5¢ O+1 &3 -620 -3.0 3.0
15 31 24 O+1 &4 -140 40 -40| 1 17 INV+2 3 -150 1.0 10| 521 3NV+l v4 -630 -3.0 3.0
521 3vO+1 4Q -170 3.0 -3.0| 7 23 INV+2 &2 -150  -1.0 10| 6 22 3NO+1 T -630 -3.0 3.0
14 30 3v V+1 &K -170 3.0 -3.0[(10 26 INV+2 ¢3 -150  -1.0 10| 8 24 3NV+l ¥5 -630 -3.0 3.0
9 25 3NS-5 +K 500 -6.0 6.0[14 30 INV+2 &2 -150 -1.0 10|16 32 3NV+l v5 -630 -3.0 3.0
319 4v 0= v6 620 -80 80| 3 19 INV+3 ¢3 -180 -20 20| 3 19 3NV+2 v4 -660 -4.0 4.0
4 20 4v V= *K 620 -80 80| 4 20 INV+3 3 -180 -20 20| 4 20 3NV+2 5 -660 -4.0 4.0
8 24 4v V= *K 620 -8.0 80| 6 22 2NV+2 &2 -180 -20 2.0|10 26 3NO+2 ¥3 -660 -4.0 4.0
2 18 4v V+1 &K -650 -9.0 9.0|13 29 INV+3 v38 -180 -20 20|13 29 3NV+2 +¢9 -660 -4.0 4.0
6 22 4v O+1 4 650 -9.0 9.0|15 31 INV+3 ¥5 -180 20 20|14 30 3NV+2 5 -660 -4.0 4.0
12 28 4v V+1 &K 650 9.0 9.0|16 32 24 N-4 4] 200 20 20| 9 25 3NO+3 #3 -690 5.0 5.0
10 4« ED1093 Basta kontrakt 11 4 EKn10 Basta kontrakt 12 4 Kn1054 Basta kontrakt
Ost v E86 3v S =140 Syd v E85 6NT S =990 Vast v Kn1092 INTV =-90
Alla + K104 Ingen 493 NS + E876
#95 & ¢ v & NT #EKDKn7 & ¢ v & NT +10 & ¢ v & NT
aKn74 4K862 N 6 109 8 8 LY # 98752 N 126 8 1112 4732 » EK8 N6 6776
vD107 vKn42 S 7 109 8 8 vD1042 v Kn97 S 126 9 1112 vE64 v 753 S6 6776
¢ED8 ¢32 06 3 444 ¢ KD10872 +¢65 015321 ¢ KD952 ¢ 104 077667
#E842 #D1076 V63455 *82 #1096 V15321 *Kn6 #KD842 V775517
a5 « KD63 D96
v K953 v K63 vKD8
+ Kn9765 ¢ EKn4 ¢ Kn3
#KKn3 #543 #E9753
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
13 29 INO-4 +6 400 70 -7.0| 8 24 6NS+1 K 1020 40 -40|16 32 3#0-3 vK 150 5.0 -5.0
319 INO-3 3 300 50 -5.0[10 26 6NS+1 K 1020 40 -40|14 30 2¢ V-2 v] 100 40 -4.0
117 24 V-2 v6 200 20 -20(13 29 6NS+1 +K 1020 40 -40| 2 18 2¢ V-1 &T 50 30 -30
6 22 24V -2 v6 200 20 -20| 1 17 6NS= ¢K 990 40 -40| 319 2NO-1 3 50 3.0 -3.0
10 26 INO-2 +6 200 20 -20| 2 18 6NS= ¢K 990 40 -40| 521 INO-1 K 50 3.0 -3.0
4 20 INS+3 #4 180 20 -2.0| 4 20 6NS= ¢K 990 40 -40|10 26 2¢ V-1 &T 50 30 -30
521 INS+2 4 150 10 -10| 6 22 6NS= ¢K 990 40 -40| 4 20 INO= 5 90 -10 10
8 24 2¢ N+2 &4 130 0.0 00| 7 23 6NS= ¢K 990 40 -40| 7 23 2¢ V= *T 90 -10 10
7 23 24 N= +3 110 00 00| 9 25 6NN= 49 990 40 -40|13 29 INO= *5 90 -10 10
11 27 24 N= *7 110 0.0 0.0]12 28 6NS= ¢K 990 40 -4.0|15 31 INO= vK 90 -10 10
9 25 24 V-1 *9 100 -1.0  1.0|14 30 6NN= v7 990 40 -40| 117 INS-1 vK -100  -2.0 2.0
14 30 3+ V-1 #5 100 -1.0 10|15 31 6NS= ¢K 990 40 -40| 6 22 INO+1 #3 -120 20 2.0
2 18 2¢ S= 24 90 -1.0 10| 521 64S= ¢K 920 20 -2.0| 8 24 INO+1 &5 -120 20 2.0
12 28 INS-1 *5 -100 -6.0 6.0| 3 19 54 N= +6 450 9.0 9.0| 9 25 INO+1 &5 -120 20 2.0
15 31 3vS-1 *A -100 -6.0 6.0|11 27 44 S+1 ¢K 450 9.0 9.0(12 28 2NO+1 &7 -150 3.0 3.0
16 32 INS-2 *2 200 -80 80|16 32 64 S-2 +K -100 -14.0 14.0|11 27 INS-2 +K -200 -40 4.0
13 473 Bésta kontrakt 14  EDKn62 Bésta kontrakt 15 &« Kn6 Bésta kontrakt
Nord v 96 5¢ O =-650 Ost v 63 5 O D -2 300 Syd v 853 6NT V =-990
Alla + KKn109753 Ingen ¢+ E976 NS + 1092
#Kn2 & ¢ v & NT #106 & ¢ v & NT #87632 & ¢ v & NT
4 Kn95 « EK102 N25223 « 107 48 N 4 104 107 sE & KD532 NO1120
v54 v EK1073 S25223 v10874  vEDKn95 S 4 104 107 vE9742  vD10 S01120
¢+ ED6 +82 O 118 101110 ¢ Kn8 ¢ 1054 093934 ¢ KKn873 ¢ E 0 1212121112
#E10974 #K8 VvV 108 111110 #KKn982 #ED75 V93934 *E5 #KDKn104 V 1211121112
« D864 # K9543 + 109874
v DKn82 v K2 v KKn6
+4 ¢ KD32 + D654
#D653 *43 *9
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 23 3NV-2 v9 200 12.0 -12.0| 2 18 44aDS= &2 590 6.0 -6.0| 7 8 7TNO-1 T 50 13.0 -13.0
9 25 6NV-2 *J 200 12.0 -12.0(13 29 44DS= v4 590 60 -6.0[ 9 10 5v V+1 48 -480 70 -7.0
521 3NV-1 v9 100 11.0 -11.0| 1 17 44 S= vT 420 20 20| 1 2 3NO+3 T -490 70 -7.0
16 32 2NV +2 49 -180 6.0 -6.0| 4 20 44 S= v7 420 20 -2.0(11 12 3NO+3 T -490 70 -7.0
15 31 3¢DN-1 4A -200 60 -6.0| 521 44 S= vT 420 20 -2.0(13 14 3NO+3 T -490 70 -7.0
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3 19 3NV= a7 600 5.0 50| 6 22 44 S= vT 420 20 -2.0(15 16 3NO+4 49 -520 6.0 -6.0
4 20 3NV = &5 600 5.0 50| 8 24 44 S= ¢J 420 20 -2.0(27 28 3NO+4 ¢4 -520 6.0 -6.0
6 22 3NV= *7 600 5.0 50| 9 25 44 S= v4 420 20 -2.0(19 20 6+ O= *9 920  -40 4.0
10 26 3NO= v2 -600 -5.0 5.0|10 26 44 S= v7 420 20 -20( 3 4 6NO= aT 990 6.0 6.0
12 28 3NV = v9 -600 5.0 5.0(12 28 44 S= vT 420 20 -2.0(17 18 6NO= *4 990 -6.0 6.0
14 30 3NV= v9 600 -5.0 5.0|15 31 44 S= v7 420 20 -2.0(21 22 6NO= aT 990 -6.0 6.0
2 18 4v 0= *4 -620 5.0 50| 7 23 34 S+1 ¢ 170 50 5.0(23 24 6NO= oT 990 6.0 6.0
8 24 3ANO+1 #J 630 5.0 50|14 30 34 S+1 ¢J 170 50 5.0(25 26 6NO= aT 990 -6.0 6.0
11 27 3NV+1  +J -630 5.0 50|16 32 24 S+2 v4 170 50 5.0(29 30 6NO= aT 990 -6.0 6.0
13 29 3NV+1l 3 630 5.0 50| 3 19 5v0-2 &3 100 -6.0 6.0|31 32 6NV= &8 990 -6.0 6.0
1 17 3¢DN-3 A -800 -9.0 9.0|11 27 54 S-1 ¥T 50 90 90| 5 6 7NO= ¢4  -1520 -13.0 13.0
16 & Kn54 Basta kontrakt 17 & EKKn98 Basta kontrakt 18 4 E97632 Basta kontrakt
Vast v DKn1072 4ANT V =-630 Nord vE10 24 O =-110 Ost v- 44 S =620
ov ¢+ K Ingen ¢ D52 NS ¢ Kn7653
#10763 & ¢ v & NT +D94 ¢ v & NT *73 % ¢ v & NT
4762 « EK1093 N6 4533 4765 «D10432 N7 7656 +1085 & DKn N 5 115 108
vEK954 v86 S6 4533 vD742 v83 S77656 vKnl1098 vK6432 S 5 115 108
¢ Kn9 ¢ D10543 07 9 8 1010 ¢+K10 #EKn73 06 6586 9 ¢ K82 061725
#EKKn &9 vV 79 8 1010 #EK73 82 V66587 #EKD82 #Knl05 V61725
«D8 a- 4 K4
v3 v KKn965 vED75
¢ E8762 + 9864 + ED104
#D8542 #Kn1065 £964
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poéang
17 18 4NV-2 vQ 200 12.0 -12.0(31 32 2v N+1 43 140 50 -5.0(15 16 4 S= A 620 9.0 -9.0
19 20 4v V-2 ¢K 200 12.0 -12.0|15 16 2NS= ¢K 120 50 -5.0(19 20 4& N= *J 620 9.0 -9.0
7 8 2vV= *K -110 70 -7.0(11 12 2v N= v8 110 40 -4.0|23 24 44 S= &K 620 9.0 -9.0
21 22 24 O= v3 -110 70 -7.0(13 14 INS= &K 90 40 -4.0|25 26 44 N= *J 620 9.0 -9.0
31 32 INV+1 #3 -120 70 -7.0(23 24 24 O-1 &J 50 30 -30( 1 2 54DV-3 ¢3 500 6.0 -6.0
13 14 34 O+1 +¥3 -170 60 -60[ 1 2 2vS-1 K -50 00 00| 3 4 34S+2 «K 200 -1.0 1.0
15 16 3NV = vQ 600 5.0 5.0(19 20 2#N-1 «8 -50 00 0.0(11 12 34 N+1 #J 170 2.0 2.0
1 2 44 0= v3 -620 -6.0 6.0|25 26 3NS-1 #A -50 00 0.0(13 14 24 N+2 #J 170 20 2.0
3 4 4eV= a4 -620 -6.0 6.0|27 28 2v N-1  #8 -50 00 0017 18 24 S+2 #A 170 20 20
5 6 44 0= &2 620 6.0 6.0| 3 4 3NS-2 A -100 -20 2.0|31 32 24 N+2 «A 170 2.0 20
9 10 44 V= vQ 620 -6.0 6.0| 7 8 2NS-2 v2 -1000 -20 20| 9 10 4v O-3 &K 150 -3.0 3.0
25 26 4a4 V= vQ 620 6.0 6.0| 5 6 INO+1 v4 120 20 20|21 22 3v0O-2 «K 100 40 4.0
27 28 44 O= v3 -620 -6.0 6.0|17 18 INO+2 v6 -150 3.0 3.0(27 28 3v O-1 &9 50 5.0 5.0
29 30 44 V= vQ -620 -6.0 6.0{29 30 3NN-3 3 -150 3.0 30| 5 6 5¢N-1 &) -100 -8.0 8.0
11 12 3NV+1l vQ 630 -6.0 6.0(21 22 24 N-4 v3 200 -40 40| 7 8 44S-1 A -100 -8.0 8.0
23 24 44 V+1l  vQ 650 -6.0 6.0| 9 10 2NDN-2 8 ;300 -6.0 6.0|29 30 44 S-1 #A -100 -8.0 8.0
19 4753 Bésta kontrakt 20 4 Kn1032 Bésta kontrakt 21 #1042 Bésta kontrakt
Syd vE93 54 O =-650 Vast vED92 ANT N =630 Nord v Kn765 4v O =-420
ov ¢ E1042 Alla ¢+E76 NS ¢ KD84
#Kn98 & ¢ v & NT #EK & ¢ v & NT #65 & ¢ v & NT
4 EK1094 4 DKn82 N66 223 4ED76 48 N5 6 9 1010 ~E8 « K953 N54355
v 107 v KDKn84 S66223 vKn874 v65 S6 6 9 1010 vED10 v9843 S$55355
¢ DKn8 + K6 077 9 1110 ¢ Kn ¢KD10543 O 5 7 3 3 3 ¢ E9632 ¢ 105 O 8 8 108 8
«D103 *E4 vV 779 1010 #Kn843 £10976 V57333 #EKn2 #D43 vV 8 8 107 8
46 « K954 # DKn76
v 652 v K103 v K2
¢ 9753 +982 ¢ Kn7
#K7652 »D52 »K10987
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
5 6 54V-1 &9 100 12.0 -12.0(11 12 44DS= ] 790 110 -11.01 3 4 3NV-2 a2 100 4.0 -4.0
25 26 64 V-1 &3 100 120 -120| 1 2 44 S= ¢J 620 90 -9.0(25 26 3¢DV-1 %6 100 40 -40
27 28 54 V-1 &8 100 12.0 -12.0| 3 4 44 S= *J 620 9.0 -9.0(27 28 4v O-2 49 100 4.0 -4.0
21 22 4a4 V= &) 620 -3.0 3.0| 7 8 44 S= ¢J 620 90 -9.0( 5 6 3NV-1 2 50 30 -30
1 2 44 V+1l 43 650 -40 4.0(13 14 44 N= ¢K 620 9.0 -9.0(11 12 24 O-1 &7 50 30 -30
3 4 44 V+1l 43 -650 4.0 4.0|23 24 44 S= *J 620 90 -9.0(13 14 2NV-1 &6 50 30 -30
7 8 44 V+1l &3 -650 4.0 4.0|27 28 44 S= ¢J 620 9.0 -9.0(15 16 4v O-1 +J 50 30 -30
9 10 44 V+1 YA -650 -40 4.0(15 16 INN+4 5 210 ;1.0 1.0(21 22 3NV-1 K 50 30 -30
11 12 44 V+1 45 -650 4.0 4.0|21 22 34 S+1 v3 170 20 2023 24 1¢ V+1 #6 90 -10 10
13 14 44 V+1 43 650 -40 40| 5 6 44N-1 K -1000 -80 80|31 32 INV= v5 90 -10 1.0
15 16 44 V+1 43 650 -40 40| 9 10 44 S-1  +J 100 -80 80| 1 2 2¢V+1l &Q -110 20 2.0
17 18 44 V+1 43 -650 4.0 4.0|17 18 44 N-1 K -1000 -80 80(29 30 2NV= a2 -120 20 2.0
19 20 44 V+1 43 -650 -4.0 4.0|19 20 44 S-1 ¢ -1000 -80 80| 9 10 INO+2 «8 -150 -3.0 3.0
23 24 54 V= vA 650 -40 4.0(29 30 44 S-1  +J -1000 -80 80(19 20 2NV+1 ¥5 -150  -3.0 3.0
29 30 44 V+1 43 -650 40 4.0|25 26 6NN-2 K -200 -10.0 10.0| 7 8 3v O+1 ¢J -170 3.0 3.0
31 32 3NV+2 ¢2 -660 -4.0 4.0|31 32 3NN-2 K -200 -10.0 10.0|17 18 3NV= v5 -400 -8.0 8.0
22 + 98 Basta kontrakt 23 « KD107 Basta kontrakt 24 « EDKn764 Basta kontrakt
Ost v EK853 5v S =450 Syd v DKn8542 5v S =650 Vast V- 5# N =400
ov ¢ KDKn106 Alla ¢+ D73 Ingen ¢ 9653
»E & ¢ v & NT »- & ¢ v & NT #DKn7 & ¢ v & NT
4 KD10743 4 EKn52 N 5 10113 5 4 E52 & Kn64 N5 6 119 5 & K102 93 N 116 7 7 7
v92 v76 S 5 10113 5 v9 vK3 S 5 6 11105 v107643 v952 S 116 7 7 7
+54 ¢ E92 072287 + 864 ¢ KKn92 086 223 ¢ ED1087 ¢ K42 0266 36
#Kn75 #KD109 v7228T7 #EDKn854 #10932 V86234 *- #E8542 V26636
46 « 983 485
v DKn104 vE1076 v EKDKn8
+873 ¢ E105 ¢ Kn
#86432 *K76 #K10963
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
21 22 4yDN+1 4A 690 11.0 -11.0| 9 10 54DV-3 «K 800 80 -80( 1 2 44 N+2 a3 480 50 -5.0
5 6 5vDN= &A 650 11.0 -11.0| 1 2 4v N+1 T 650 50 -5.0(15 16 44 N+1 v9 450 50 -5.0
7 8 5vDS= &K 650 11.0 -11.0| 3 4 4v N+1 T 650 50 -5.0(17 18 44 N+1 v2 450 50 -5.0
3 4 4vN+1 &K 450 80 -8.0(11 12 4vy N+1 43 650 50 -5.0(25 26 44 N+1 49 450 50 -5.0
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25 26 4y N+1 v6 450 8.0 -8.0|15 16 4y N+1 &T 650 50 -5.0|31 32 44 N+1 &3 450 50 -50
15 16 5¢ N= 4A 400 7.0 -7.0|23 24 4v N+1 &T 650 50 -50| 3 4 44 N= «A 420 40 -4.0
9 10 44DV-1 ¢K 200 20 -20| 5 6 4v N= *6 620 40 -40| 7 8 44 N= 49 420 40 -4.0
23 24 44DV-1 K 200 20 -2.0|19 20 4v S= *4 620 40 -40( 9 10 44 N= 48 420 40 -4.0
31 32 3vy N+2 &K 200 20 -2.0|21 22 4v N= 3 620 40 -40(13 14 44 N= + K 420 40 -4.0
27 28 4¢ N+1 aA 150 10 -10(27 28 4v N= &T 620 40 -4.0(27 28 44 N= + K 420 40 -4.0
1 2 4eV-1 *A 100 -10 10| 7 8 54DV-2 &K 500 10 -10[ 5 6 34N+l ¢2 170 -3.0 3.0
29 30 44 V-1 vA 100 -1.0 1.0(13 14 3v N+2 &T 200 ;70 7.0|23 24 34 S= v3 140 40 4.0
17 18 24 V+2 #A -170 7.0 7.0|25 26 3v N+2 & 200 7.0 7.0|19 20 44 N-1 v2 -50 -8.0 8.0
11 12 44 V= vA -620 -12.0 12.0|31 32 3v N+2 &2 200 7.0  7.0(21 22 44 N-1 49 -50 -8.0 8.0
13 14 44DV = &A -790 -14.0 14.0(|17 18 3v N+1 &3 170 7.0  7.0(29 30 44 N-1 v2 -50 -80 8.0
19 20 44DV = &A -790 -14.0 14.0|29 30 5v N-2 *3 -200 -12.0 12.0|11 12 54DN-2 ¢2 -300 -11.0 11.0
25 4 Kn63 Basta kontrakt 26 4 E102 Basta kontrakt 27 & KKn973 Basta kontrakt
Nord v 432 INT O =-2220 |Ost v ED5 4v S =620 Syd v EK82 44 S =420
ov + D109 Alla + EKn643 Ingen + Kn87
#Kn1054 & ¢ v & NT *K4 & ¢ v & NT *3 & ¢ v & NT
4 E8754 & KD2 N13000 « D96 & K743 N 8 9 108 9 4 86 102 N8 7 6 107
vKDKn7 vE65 S13000 v Kn6é v K973 S 8 9 108 9 vD94 vKn10763 S 8 7 6 107
¢ E65 ¢ Kn72 O 1010131313 +KD52 +387 053353 ¢ E94 ¢ K632 056 7 35
&D #EK83 V 1010131313 #DKn85 #632 V54353 #EK652 #94 V56735
109 & Kn85 4 ED54
v 1098 v 10842 v5
+ K843 + 109 + D105
#9762 #E1097 #DKn1087
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 4 44 0+3 T -710 12.0 -12.0(25 26 4v S= + K 620 11.0 -11.0| 9 10 44 N+2 49 480 20 -20
13 14 3NO+4 &T -720 120 -12.0| 9 10 2NN+1 *3 150 20 -2.0|23 24 44 N+2 49 480 20 -20
25 26 BNO+4 3 -720  12.0 -12.0|13 14 INN+2 *3 150 20 -20| 1 2 44 N= *9 420 0.0 0.0
29 30 BNO+4 &2 -720  12.0 -12.0|17 18 INN+2 %7 150 20 -20| 3 4 44 N= *9 420 0.0 0.0
1 2 6eV+l #J -1460 40 40|21 22 1¢ N+3 97 130 10 -10| 7 8 44 N-= v] 420 0.0 0.0
9 10 64 O+1 ¢3 -1460 40 40| 3 4 INN+1 +3 120 1.0 -10(11 12 44 N= +3 420 0.0 0.0
11 12 64 O+1 ¢3 -1460 40 40| 5 6 INN+1 ¢2 120 1.0 -10(13 14 44 N= *9 420 0.0 0.0
19 20 64 V+1  &J -1460 -40 40| 7 8 2NN= *6 120 10 -10(15 16 44 N= v] 420 0.0 0.0
31 32 6y O+1 T -1460 40 40| 1 2 1e N+2 44 110 00 0.0|17 18 44 N= +3 420 0.0 0.0
5 6 6NO+1 *T -1470 -40 4015 16 2¢ N= *6 90 0.0 0.0|19 20 4v N= v2 420 0.0 0.0
7 8 6BNO+1 T -1470 40 4019 20 1¢ N+1 &2 90 0.0 0.0(21 22 44 N= v3 420 0.0 0.0
15 16 6NO+1 %6 -1470 40 4023 24 1¢ N+1 &2 90 00 0.0|25 26 44 N= vJ] 420 0.0 0.0
17 18 6NO+1 3 -1470 -40 40|31 32 INN= v3 90 0.0 0.0|27 28 44 N= v6 420 0.0 0.0
21 22 6NO+1 oT -1470 -40 4.0]29 30 2¢ N-1 *2 -100 50 5.0(29 30 44 N= vJ] 420 0.0 0.0
27 28 6NO+1 %9 -1470 40 40|11 12 3NN-2 43 -200 ;7.0 7.0(31 32 44 N= vJ] 420 0.0 0.0
23 24 74 O= vT -2210 -13.0 13.0(27 28 3NN-2 43 -200 70 7.0| 5 6 24 S+2 #A 170 -6.0 6.0
28 » Kn106543 Bésta kontrakt
Vast vE4 34 N =140
NS + KD73
«D & ¢ v & NT
82 « E97 N595 97
vD752 vKnl063 S59597
¢ EKn ¢ 862 07 3835
#E8762 #K94 V73835
«KD
v K98
+ 10954
#Kn1053
Par  Kontr ut Res Poang
9 10 24 N+2 46 170 20 -2.0
15 16 34 N+1 &A 170 20 -20
19 20 34 N+1 &4 170 20 -20
21 22 3a N+1 v 170 20 -2.0
23 24 24 N+2 v 170 20 -20
25 26 24 N+2 vJ 170 20 -20
29 30 24 N+2 #4 170 20 -2.0
13 14 34 V-3 4] 150 20 -20
27 28 24 N+1 &K 140 20 -20
5 6 24DV-1 vA 100 0.0 0.0
31 32 3&V-2 vA 100 0.0 0.0
3 4 INO-1 #K 50 -1.0 1.0
7 8 3#V-1 vA 50 -1.0 1.0
11 12 24 N-1 v5 -100 5.0 5.0
17 18 INO+1 &3 -120 -5.0 5.0
1 2 3v0O= s K -140 -6.0 6.0
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